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95| Which country in the world shares its border with the most countries? &332 Russia
931 Which of the following desert is located in Mongolia? $3g: Gobi Desert

9w | Shakib Al Hasan has recently been selected as the best athlete in the history of
Bangladesh by- $a5: BSPA [Bangladesh Sports Press Association =BSPA]

981 Which of the following has the highest number of green apparel factories in the world?
Tad: Bangladesh

ae| A Chronometer is used to measure- $33: Time

941 The 7th March speech of Bangabandhu was recognized as part of the world’s
documentary heritage by- &ag: UNESCO

99| The Nobel Prize for Literature in 2022 has been awarded to- T3g: Annie Ernaux
9% | The third largest economy in the world is — 383 Japan

951 Which one is the second-highest mountain on the earth? $a3: K2 [Mount Godwin
Austen]



ol Which one is the top country in terms of per capita greenhouse gas emission? Sad:

SEl

S| What was the capacity of the crane ship to install the span of the Padma Bridge? ©ag:
3,600 tons

| What is the extreme poverty rate of Bangladesh as per the Economics index, 20227?
5852 10.50%

ve| Who is the founder of ‘SpaceX’? $ad: Elon Musk
»81 The southernmost town of the world resides in- &3 Chile [Puerto Williams]

v&| Who is the World’s first wicket keeper to score double century in test cricket? =3
Mushfiqur Rahim

w4 | Who has written the famous novel ‘Pather Panchali’? T&a: Bibhutibhushan
Bandyopadhyay

a1 What is the position of Bangladesh according to World Bank, in the terms of the
recipient of remittances in 2021? $ad: 7th

v | What is the name of the country where no prime minister has ever served a full term?
$ag: Pakistan

¥»| How many districts are touched by the Sundarbans? ©as: 5 [eTaT STTGRIET, IMCRIG,
LA § IISA]

0| The documentary film, based on the liberation war ‘Rupali Shoikot” was directed by —
Sad: Alamgir Kabir
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»51 A Terabytes is equal to — $a93 1024 gigabytes (GB)

»X1 RTGS is a — $39: Payment system [RTGS = Real Time Gross Settlement]
»@| An offline UPS will typically take ____to transfer power. ©35: 8 milliseconds

81 A chatbot or chatterbot is — ©8a: Software



>t | For keeping internet activity anonymous and private by users, which one is used? T3
Dark web

41 Which of the following format is usually used to store data? $ags BCD [binary-coded
decimal = BCD]

31 Which of the following is not the component of a microprocessor? $ad: Hard Disk
% | Microsoft Office is an example of a — Bags Horizontal market software
»>| Identify the language which is mainly used for artificial Intelligence — Sag: JAVA

voo| Electronic trespassing or criminal hacking is known as- $aa: Cracking



